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EDUCATION
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which of the following combination will be used for acquiring knowledge by a teacher

who has inclination towards realist philosophy ?

@
(ii)
(iii)
(iv)
M
3)

Relying on sensory experience.

Using inductive methods.

Employing logical reasoning.

Showing sympathy towards colleagues.

(1), (i) & (iii) (2) (@, (i) & (iv)
(i1), (iii) & (iv) 4) (i) & (iv)

2. On which issues the Pragmatists and Existentialists may be in agreement ?

@
(ii)
(iii)
(iv)
M
3)

Anti Collectivist approach

No dependence on a priori knowledge

Averse to social issues

Valuing subjective knowledge

(1), (i) & (iii) (2) (1), (i), (1) & (iv)
(i1), (i) & (iv) @ (1), (i) & (iv)

3.  Choose the correct combination of the differences between Mahayani and Hinyani

followers of Buddhism :

@

(ii)
(iii)
(iv)

ey

(3)
Paper-I111

Mahayanis were tradesmen while Hinyanis were preachers.
Mahayanis accept this world as a reality while the Hinyanis do not.
Mahayani’s ideal is “Bodhisattva’ while that of Hinyana is “Arhathood”.

Mahayanis believed in the ideal of action while Hinyanis believed in the ideal of

‘contemplation’.
(1), (11), (i11) & (1v) (2) (), (i) & (1v)
(1), (111) & (1v) 4) (i) & (1i1)
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(i)  STHATCHe, fafe= i1 ST

(iil) R Fava T ST

(iv) TEImTE % Uid Ferid ST

(1) (i), (i) T (iii) 2 (D), (i) T (iv)
(3)  (ib), (iii) T (iv) (4) (i) T (iv)

2. ®F Y a5l W yEiSHetear qon sifedcaantsal § Wt & qehdl € 2
() et fae 3umm
(i)  FTvE FIORT T X IR el
(i) QrETSIe T 9 faga
(iv) =i I I 7o 3
(1) (i), (i) T (iii) (2) (i), (i), (i) T (iv)
(3) (i), (iii) T (iv) 4) (D), (i) T (iv)
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(1) (@), (i), (i) T (iv) (2) (i), (iii) T (iv)
(3) (@), (iii) T (iv) (4) (i) T (iii)
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4.  What are the sources of knowledge as per Islamic education system ?

(i) Empirical world (i) The Quran

(ii1)) Namaj (iv) Scriptures

(1) (1) & (iv) (2) (i), (111) & (1v)
(3 @, (i), (i) & (iv) @ (@) &)

5. The basic purpose of imparting craft education in Basic education scheme was to
(1)  Developing hands on experience.
(1)) Preparing the ground for vocational education.
(ii1)) Achieve the goal of a Sarvodaya Sama;.
(iv) Meet the expenses incurred on the education of children.
(D @, (i), (i) & (iv) 2) (@), () & (iii)
(3) (i), (iil) & (iv) 4) (1) & (iii)

6. A teacher is interested to help a group of academically poor children hailing from slum
and difficult to reach areas. Which of the following will be the appropriate interventions in
order to ensure equity and equality in their education.

(1) Providing sufficient learning materials, play materials and food.

(2)  Giving longer hours of coaching coupled with reinforcement in the form of praise

and encouragement etc.
(3) Involving parents of children in various school activities.

(4) Providing free school uniform, mid-day meals with leisure time activities.

7.  The major role of education in the context of society is :
(a) ensuring sustainable social progress.
(b) Replacing social stratification.
(c) Encouraging social mobility.
(d) Exercising social control.
Choose the correct set of answers from the following alternatives :
(1) (@), (b), (c) (2) (b, (©), (d)
(3) (@, (), (d) @ (@), (), (©), (d)
Paper-111 4 J-09-16
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(1) (@), (i), (i) T (iv) (2) (@), (ii) T (iii)
(3) (i), (iii) T (iv) (4) () (i)
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(a) A FHISTR W e e |

(b)  HTEISTR TAIHIOT T WA T |

(c) TN Heord gHad e |

(d) G E0T AT |

T 53 72 ool © Tel SR o Tel gq=ad Sl o Hif

(1) (a), (b), (0 (2)  (b), (), (d)

(3)  (a), (c), (d) 4)  (a), (b), (c), (d)
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8.  The concept of “gender equity” in Indian context implies :

(1) Equal provision for men and women.
(2)  Similar provision for men and women.
(3)  Special provision for women.

(4)  Special provision for men.

9.  The term disadvantaged section refers to :
(a)  Scheduled Castes
(b)  Scheduled Tribes
(¢) Girls and women
(d) Minorities
Choose the correct set of answers from the following alternatives :
(1) (@), (b), (c) 2) (@, (b),
(3)  (b), (0), (d) @) (@, (b), (), (d)

10. Which article of Indian Constitution embodies the provision for early childhood care and
education for the children below the age of six years ?

(1) Article 45 (2) Article 21(A)
(3) Article 51(A) (4) Article 350

11. Which of the set of statements explain the characteristics of intellectual and emotional

development during the stage of childhood ? Select your answer from the code.

(1)  The child displays the ability to talk in tune with others level of cognitive level.

(1))  During the last part of this stage there is optimal level of learning in cognitive terms.

(1) Concept of self emerges in keeping with achievements in schools.

(iv) The ability to form compound and complex sentences may be noted in speech or
writing.

(v)  Starts showing signs of worry arising from imaginary objects.

(vi) Starts forming sentiments for the love of the country, group loyalty and family.

Codes :
(1) (@), (i) and (iii) (2) (iv), (v) and (vi)
(3) (1), (iv) and (v) 4) (1), (v) and (vi)
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11.

GRATT T | foliT = i SEuR ¢
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T f3T T fTgehedl O 9 Wet ST % Tel e HT 99T iU ;
(1) (a), (), (c) (2) (@), (D), (d)

(3) (b)), (c), (d) 4) (), (b), (c), (d)

TR Giau™ & g 3=s ¥ 8¢ 99 ¥ 9 SH & Tedi Bl RH Fodshiel H STl ae
NI ICEIGAC T RIR )

(1) =T 45 (2) =T 21(A)

(3) FT=T 51(A) (4) =T 350

=i o B ¥ 98 D AT G &, ST Sodee § difgs® Ud Yo i [aerarst
AT € 7 FE W W AT

(i)  STcTeh SAX o AAMHIHS TR I S1d T o bl AT TSH9Td el & |

(i) T EAT & AT IO H TIFICHS g T ST T g2aq &< W & ST ¢ |
(iii) forermerm™t & Sueieml & &Y A HT T {oehigd e § |

(iv) s ue ferem 9 fa ud stieer amedt & s o G 31 St €

(v) AT S § STHerdT o Hobd W B & |

(vi) <IN q91 9 U URER & Wid T b et 9 a9 o §

%
(D) (D), (i) © (iii) (2)  (v), (v) T (vi)
3) (@, (v) T (v) 4 (@), (v) T (vi)
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12. Development of concept formation in all stages is marked by features such as

(1)  ability to discriminate between classes of stimuli.

(1)) form generalization within a class of stimuli.

(11) understanding the necessary characteristics which play crucial role.
(iv) Relating events to unpredictable consequences.

(v) Ability to give examples and non-examples of the referents.

Select the correct alternative from the following code :

Codes :
(1) (i), (iii), (iv) and (V) 2) (b, (ii), (iii) and (v)
3) (), (i), (iv) and (V) @) (b, (i), (iv) and (V)

13. Which of the following is not a typical characteristic of the social development during
adolescence ?

(I) Intense self-awareness
(2) Moral development
(3) Tendency of being away from parents

(4) Formation of cliques or associations

14. The pre-operational stage of development as noted by Piaget corresponds to which level
of education in the Indian context ?

(1) Upper primary level
(2)  Secondary school level
(3) Secondary and Senior secondary level

(4) Kindergarten and early primary level of education

15. Reward and punishment are considered to be regulatory devices. In the case of
punishment which aspects of individual differences are likely to play a significant role in

school education for regulation of behaviour ?
(1) Intelligence level of the students.

(2) Achievement of learner in a subject.

(3)  Socio-cultural background of the students.

(4) Interest in hobbies.

Paper-111 8 J-09-16
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(iii) o AT AT S Hewaqol Bl & S THS o AT § |
(iv) TS I 9l BT I T B aTel UNOTHT § S S o ST § |
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F2

(D) (i, (iif), (iv) T (v) @ @), (i), (i) T (v)
3) (), (i), (v) T (v) @ (), (i), (v) T (V)

13. fAifra ® 9 i 9 e fremreren o |rHiiTeh faehrd o1 T o1e1oT =@ € 2
(1) ifer 3Teq e ) Afes fomrr
(3) AT T T i Vg (4) T A g 6 AT

14. oIt gR1 Tafea gd-Tiskaree STaen IRaE 9= § ¥1eT & v ) 9 gweEiyd € 2
(1) 3= WaHs wy
(2) HreEyF = WY
(3) WA Ud 3T ATEAHE TR
(4) ToreTmeT T uRfeTs yrefHe e &

15. TREHR Ud 30 I FATTe Jiodal o 9 § {7 A1 | 308 % e § AR ST 3 i
T gt Toerner 91T H e o HEm o Hewayul JiHehT 78T Y Fohd ¢ 2

(1) foentem 1 gfg TR

(2) Torelt fororr o afepTeshal i SuAts
(3) fornfort st QST Wiepiaes g=yfa
(4) o B
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16. Which sets of the following statements have a direct support from theories of learning and
motivation ? Give your answer by selecting the alternative from the code.
(1) The probability of an operant response increases if it is immediately followed by

17.

18.

19.

reward.

(1) Motivation is a necessary but not a sufficient condition for learning.

(iii)
(iv)

You can lead a horse to a pond, but you cannot make it drink.
The learner forms a cognitive map when learning takes place.

(v) The number of pairings of a conditioned stimulus with that of unconditioned
stimulus tends to reduce the latency of a response.

(vi) Practice makes the man perfect.
Codes :

(1) (1), (i), (iii) and (iv) (2)
(3) (i), (iv), (v) and (vi) 4)
‘Learning by Cathexis’ is a term used by
(1) Thorndike 2)
(3) Tolman 4)

(11), (ii1), (1v) and (vi)
(1), (1), (iv) and (v)

Skinner
Hull

In backward conditioning, which of the following temporal relationship is studied ?

(1) The unconditioned stimulus follows the conditioned stimulus after a lapse of time.
(2) The conditioned stimulus precedes the unconditioned stimulus by a few seconds.

(3) The unconditioned stimulus precedes the appearance of conditioned stimulus.

(4) After termination of a one conditioned stimulus, another conditioned stimulus is

presented.

In the following example four types of transfers in the shape of facts transfer, principle
transfer, skill transfer and methods transfer are available. Identify and match the two by

the numerals given below the underlined part.

Example :

(1)  Ashoka in a chemistry lab is making chlorine. He knows what compounds must be

combined

(i1) The acid is diluted by adding the water to the acid.

(iii)
(iv)

(v) He proceeds with air of confidence.

In setting up his apparatus he bends first the glass tubing.
The apparatus is then assembled cautiously with neatness and care.

(vi) works systematically.
Set -1 Set — I1
What transfers Example numerical

(a) Facts transfer (1)

(b)  Principle transfer (i1)

(c)  Skill transfer (ii1)

(d) Method transfer (iv)
(v)
(vi)

Codes :

(a) (b) () (d)

(L (@ (i) (iv) (v)

(2) (D) (iv) (v) (vi)

3 @ (i) (i) (iv)

@ @ (i) (iv) (v)

Paper-I111 10
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16.

17.

18.

19.

fiferd & @ B T A Gead AR ud ARROT % fagTal ¥ veeid: gEtad € 2 % 9
SUgeT fashed e ST0T ST S |
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(iii) ToFdT ETg =l 379 TRISR e o ST ool &, fohed ST UIH & ToIT areT Tt o Wbl |

(iv) AT Tied eF W RIS Ueh “TIcHs A foshiad o a1 § |

(v) IS Ud SFMETd SETeh! o I Tl G STfohAT- TR 1ot bl = &1 3l & |
(vi) 3T T SRS YUTdT W he oIl & |

G YA

(1) (), (i), (iii) T (iv) () (i), (iii), (iv) T& (vi)
(3) (b, (v), (v) T (vi) @ @), (i), (v) T (v)
“3rmferareT AR I w1 uET ot T €, foheen g 2

(1) 9res® 2) =

(3) oA (4) B

JTEdT 3 B Hihd § F b hifcteh T T 3Teqa {oha ST & 2
(1) 3TET 32U B YT & o1 ST 3219 $8 G0 % 15 W&d [T ST & |
(2) IFHEYT SEUF P FT YhUE Yo ST L0 U [haT STl ¢ |

(3) AT 3 % ST ST o Yel e 31U e fohal STl & |
(4) T AT LU Bl T &l STH R GE ST e W BT STl & |

e e 3T, TagT= 3TR0T, PRIl ST e faf 3TR0T o &9 H 9K WhR & TRl &
SETEXOT 153 T3 & | T Yifehe 3791 | 37ehT ol YgE S ST bl ATt HITT

TR : (i) 9 hal TR o bl JENTSIen § FAkis a1 @I & | o8 S € o foh-fep
TRl T THSI0T €T | (ii) 37T B U THCITST 3757 ST O ST STl € | (i) 379 SUehoT T
A T TE TR AATCTR Bl WISl € | (iv) TeTead Wesdidd 7T aeHIgash g STl sl Tare
FATE | (v) TE TI9aTT o e o 1 3T Sl € | (vi) 3719 Faad ®9 F i FRar e |

= - I aed - 11

CRUE ) (SETETT 3ieh)
(a) T SR ()
(b) fogFT R (ii)
(c) PV SF=ROT (i)
(d) fafy sraror (iv)
)
(vi)

@ O © @
H G @) Gv) (V)
@ Gy G (v) (v
3 O @ G @{v)
@ O @) Gv) ()
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20.

21.

22.

23.

24.

According to Hull in a learning situation, tendency to make a given response to a given
stimulus depends on

(1) habit strength, drive and incentive motivation.
(2) habit strength, extraneous stimulus and oscillation.
(3) resistance to extinction, response amplitude and speed of response.

(4) habit strength, response latency and threshold value of a response.

Which of the following theory of personality is an example of trait theory ?
(1) Freud’s psychoanalytic theory

(2)  Allport’s theory of personal disposition

(3) Adler’s theory of individual psychology

(4) Lewin’s field theory

A child on the very first day of his entry to the school campus starts crying like an infant
out of the fear or shows over dependence-proneness on the teacher. This is an example of
which kind of defence mechanism ?

(1) Displacement (2) Fixation

(3) Rationalization (4) Regression

Which of the following sets of statements depict the characteristics of the process of
adjustment ? Select from the code to give your answer.

(1)  During adjustment both individual and the environment undergo a change.
(1)  Adjustment in one situation implies an adjustment in other situations as well.
(11) For quickening the process of adjustment, study of motivation is helpful.

(iv) Adjustment depends on intelligence and personality.

(v)  Adjustment is mechanical but purposive.

Codes :
() (@), (iii) and (iv) (2) (i), (iii) and (v)
(3) (i), (iv) and (v) (4) (1), (il) and (iv)

Which of the following assessment tools of personality is a projective test ?
(1) Cattell’s 16 PF

(2) Edwards Personal Preference Scale

(3) MMPI

(4) TAT

Paper-111 12 J-09-16



20.

21.

22.

23.

24.

T o STIAR S qRefd | fRE TR e o Ui Ued SRR Sca BiF i T MR
B 5,

(1) 3TEd o, ST=Ig a7 IReh SATIRIT 9T

(2) 3T S, TTET EUH a7 et I
(3) TaetiT & Wid HreRTY, SRt SMETT T SRt M o)
(4) TR I, SR - STAFIATRI AT SHAT-THT & A T

f=ifRd 7 9 % 91 ‘Afeda-fager, foeive fagm &1 S e ?
(1) hES F AATvATERT g

(2) STEIE T AT FT Fagm=

(3) USSR & AN FANGRIH T (5T

(4) AT o E-fag

Tomrer Ui o ufafte & werm 7 & U STotsh, 937 o HRUT 91 SIAT B8A-5hwa i o STl &
7 f¥TeTeh UR ATk URTHAT WS RTA he oI € | I8 fohd Wb ohl TETT-JoRT ohT SITe0T ¢ 2

(1) foremm ) fero
(3) T 4) e

FHeAT T fTATAtEd § § HiF-97 g GHH UfshaT i faeioarsti 6 soidr € | e 58 T %
I FETIdT § 3T IITT

()  EESH o SR SAfeR T4 TgeRoT ST | Uied el g |

(i) Uk feafa & s gt feafea & off AisH &

(iii) TSI ol UishaT ot hid o fo1d SAIDROT ol 3T TeTaieh Bl & |
(iv) TESH gy 3R e W R Har e |

(v) THSH Aeh W] TRIE Bt ¢ |

£
() (), (i) 3R (iv) 2) (i), (iii) 3R (v)
(3) (i), (iv) 3R (v) @ (), (ii) 3 (iv)

HferTed 3ol T AIehd | d i W1 SUHIUT FEYUIcH TR0 & 2
(1) FAH 16 WO, (2) USTSH H I YT Thed
(3) UHATHILITE (4) AT

J-09-16 13 Paper-I11



25.  Which of the following personality characteristics is not subject to appraisal ?

)]
3)

Interests and values (2) Motivational dispositions

Expressive and Stylistic traits (4) Heedfulness and loyalty

26. Match the following types of counselling of Set-I with name of their promoters given in
Set-II.

(a)
(b)
©

Set — I Set — 11
Directive Counselling (1) Thorn
Non-directive Counselling (i) Williamson

Eclectic Counselling (ii1)) Tolbert
(iv) Peterson

(v) Carl Rogers

Which of the following indicates the correct match ?

(1)
2
3)
4

(a) (b) (©
v) (1) (iv)
(i) (@v) (1)
(i) v) (1)
(1) (iii) (i)

27. An Anecdotal Record is related to :

ey
2
3)
“4)

Description of a particular episode/behaviour/event in someone’s case.

Complete record of a child/student during his/her school education.
Record of the memories of the school life.

Record of small stories.

28. In the Indian context most appropriate stage for vocational guidance is :

€]
3)

29. In the context of Group Guidance, one of the most essential requirements is :

€]
2
3)
4

Paper-I111

Kindergarten Stage (2) Elementary Stage
Secondary Stage (4)  Senior Secondary Stage

Heterogeneity of the group.
Homogeneity of the group.
Match the individuals of the group on a particular basis.

Large number of participants.

14
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25, AfeRTed Sl iR faiadret | 9 {5 goaisht o B § A&l oIt ST gehdl 2
(1) et vl e (2) SRS st
(3) oA e Hell Folp oI (4) W O T
26. THEfAREd 9 Te-l H U T SUS & UhRT 1 9e-11 H ST 7T Ferdeh! o |1 GO HifsTy :
"e-1 L | |
(a) TASSICHS TSI (TXTHET) (i) o=
(b)  AMSIICAE ST (WES) (i)  faferawe
(c) THAHS UL (WHR)  (jii) <eAee
(iv) e =
(v) T AT
ffetfad # & o o1 &t e g € 2
(@ (b (o
1 ©» @O (v
(2) @G Gv) @)
3 G ™ O
@ @G i) ()
27. Thored e gafyd ¢
(1) =t o fordl fomle gey/=eer/ae o Sy | faawo
(2) U Tl 1 IHH! Whell TeT Ht 37ary ol =R (RFrS)
(3) et Ao i Wi i T
(4) o FEIar w1 fqeror
28. R TR § AT e 8q Tod SUFSR TEe i T § 2
(1) fpveTmés & (2) W TR
(3) wreEE 'R (4) =9 AR TN
29. e FS9E % T § Ueh Qo S Tavdeh €
(1) THe il fasTrer (2) T H T
(3) AT FT A 9T SR W (4)  UiqeRTEr s SiEEn
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30.

31.

32.

33.

34.

35.

36.

In the context of Directive Counselling, the credit goes to
(1) Thorn (2) Carl Rogers
(3) Williamson (4) Tolbert

The following example is of a hypothesis in a study undertaken at school level “School
children from rural background are prone to less stress as compared to their counterpart in
the urban areas”. This statement may be considered as an instance of which type of
hypothesis ?

(1) Principal research hypothesis

(2)  Action research hypothesis

(3) Null hypothesis

(4) Directional hypothesis

The term population in research is defined as,

(1) the total number of cases in a group.

(2) all the possible cases in a group.

(3) the aggregate constituents of a defined group.
(4) the various aggregates which are identified.

In arriving at generalizations in respect of findings, a researcher moves from
(1) Sample observations to population.

(2) From one sample to the other sample.

(3) From population data to the sample.

(4) From population to population.

In which tool of research the coverage of information is relatively large and indepth ?
(1) Interview (2) Questionnaire
(3) Focus group discussion (4) Observation

Which of the following may not be considered as a source of hypothesis formulation ?
(1) Experience of the researcher.

(2) Observation of the field situations.

(3) Personal data of the researcher.

(4) Related studies surveyed by the researcher.

Organize the steps involved in naturalistic research in correct order from the stages given
below and select the suitable code.

(1) Developing and maintaining relations in the field.

(i) Deciding the sampling.

(11) Identifying role and managing entry into the context.

(iv) Locating a field of study.

(v) Data collection and analysis.

Codes :
(D @Gv), (i), (i), (1), (v) (2) @), (i), (D), (v), (1)
3)  , (), (i), (iv), (v) @ @), (i), (v), (iv), (i1)
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30.

31.

32.

33.

34.

35.

36.

FSeTTcHeh ST (RTHRY) o < | fohd &5 ST € 2
(1) o (2) e Ao
(3) fafeaae= (4) T@E

Tt Sereo, fommer % & W T U 3 § aieret T 1 € -
“UTHIOT Y § 3T oo foeerd o Sedl § 310 |rell el &1 & Sedl i gl § gad S
BAT T " 39 o Sl URBeIT & [hd Wb o G o & § THLAT QT 2

(1) T=F FTHEE IR (2) THATHS STTHEM RGBT
(3) I UNEHHT (4) T<STcHS qRehedT

STAYE | T U o (fetad # | fepeeh w9 § uiioe femar mar & 2
(1) T 998 § 95 i ol ge

(2) odt gge ¥ ot gvifad g5

(3) i T9g ot THET Shrea

(4) T wye, f aReioe fofan ST € |

TTh & e § QAT UR Yged gu, Il Heteiied o 9 e ST =ordl & 2
(1) Ud=ST o WeToT | T i 3R (2) UH AR ¥ gAY UfaeT

(3) THEY UEd ¥ WAgy P SR (4) TU7 ¥ qEU

STTHY & fohg SUSRROT H GoT i M STUeTHA TSt 3R e &iedl & 2

(1) HETERR (2) vRATE

(3) T Higd THE T4l (4)  TRIOT

frfoiaa 9 | 8 aRephedm 90T 1 Sid &t THe ST € 2

(1)  wmremeff 1 3T (2) & i feafear s vegor

(3) Tl ST At wew (4) TR GRY ety STeATE HaARIuT

e fsu =on o § upfqast vy ¥ Hed @O 1 9o Rl g0 3 SUged hH H Gt
HIfT |

3O I & Tel e H 997 HY |

() &7 § Tl ol forehfdd st aT ST W& |

(i)  Afq=ra= 1 FERT HET |

(i) =T YTHeRT Tl Tea HAT AT IUFFT T H JoleT T Gy AT |

(iv) T & &F 1 Ual oA |

(V) UG Hehote AT O ST [o¥elouT ST |

A
(D (@), (i), (i), (1), (v) (2) (), (i11), (iD), (v), ()
(3) (1), (i), (i), (iv), (V) 4 (D, (1), (v), (1v), (i)
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37. Match the tools/techniques of research given in set-I with their characteristics given in
Set-II and select appropriate code.

Set -1 Set — 11
(Tools/Techniques) (Characteristics)
(a) Interview (1) Useful instrument for collecting survey
information.
(b) Discourse analysis (i) Development of an elaborate system of

categories by preserving essential complexity.

(¢) Questionnaire (ii1)) Flexible tool enabling multi sensory channels
to be used.
(d) Observation (iv) Explores the organization of ordinary talk,

explanations or social actions to fit a pattern.

(v)  Offers the researcher an opportunity to gather
data from natural settings.

Codes :

(a) (b) (©) (d)
(W) (1) (i1) (iv)
(2 @)  @1v) (1) (v)
(3) (i) (v) (i1) (iv)
@4 (i) (iv) (1) (iii)

38. A set of scores has a mean of 20 and a standard deviation 6. If every score is multiplied by
4, the new mean and standard deviation would be :

(1) 20,24 (2) 80,24
3) 20,6 4) 80,6

39. Identify the set which mention the disadvantage of Longitudinal research studies using the
codes given below :

(1) Time consuming and expensive.
(1))  Subject dropout or refusal for further cooperation.
(i) Re-interpretation of remembered information.

(1v) Interaction of biological, environmental and intervention influences.

Codes :
(D) @), [v), (iid) (2) (), (1), (3)
(3)  (v), (iib), (i1) @ (@, (), (iv)
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37. = =gl (Set-I) § ST T Iy & UM/ H Tgead-11 (Set-1I) ¥ T T 37

38.

39.

TfeTeTon § et St |
TE I & T B BT T BT
g - 1 g - 11
(SUHUT/THTH) (atfrereToT)
(a) WRICHR (i)  QETUT Treg G-l GUGOT & SUANTT SUHIT
(b)  THUT, TAT 3TMS T [APATIT (i)  STERIH AT b URIEI0T FRT Hifedm Bl
o Fae &1 faehr & |
(c) VAT (iii) v fFT ST 9 Sg-Tast TATeardl <l TR
A el G U]
(d) Treror (iv) T Ud9E % 3! QMM adl, e
31T | TShaTstl o Hered i Teryon
(v) ST S Whiae UNeRT ¥ Ued WIEUT
AT TS FAT & |
B

@ O © @
O v @ G @Gv)
@ @ @ @H W
(3 @G (v () (@{v)
@ G  Gv) @ (i)

T 31l & T T AT 20 & T T forae 6 & | IS U 375 T 4 I o7 fohar S, o
TG AT I A forae g

(1) 20,24 (2) 80,24
3) 20,6 4) 80,6

et ST T et 1 T I G ST STHEH ST o TS U T 3e01@ DT
() THI-EA AR G

(i) DT &1 ok BT a1 WeahT S | HA1 e

(iii) YS-Tgd G T YA Fea==

(iv) Sifereh, TaTERONE 31T B&qelT o U ot 33 shar

%
(D @), (iv), (i) (2) (i), (D), (1)
(3)  (iv), (i), (i) 4 (1, (1), (iv)
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40. Match the method of sampling in Section-I with the purpose served given in Section-II.
Identify the appropriate code.

Section - 1 Section — II
(Method of Sampling) (Purpose Served)

(a) Multistage sampling (i) Give proportional weightage to selected
characteristics of the wider population.

(b)  Quota sampling (i) Choosing the nearest individuals to serve as
respondents.

(¢)  Snow ball sampling (ii1)) Selecting the sample in stages.

(d) Purposive sampling (iv) Purpose of sampling changes at each stage of

the procedure.

(v) Sampling a population where access 1is
difficult and the selected individuals are then
used as informants.

Codes :

(a) (b) (© (d)
() (D) (v) (1) (i1)
(2) (i) (1) (v) (iv)
(3 (i) (v) (iii) (iv)
(CONNNCY (iv) (i1) (v)

41. RTE Act-2009 is :
(1) Right to Education of Children-2009
(2) Right of Children for Free and Compulsory Education Act-2009
(3) Right to Education of Children for Free and Compulsory Education Act, 2009
(4) Right of Children to Free and Compulsory Education Act, 2009.

42. Kasturba Gandhi Balika Vidyalayas (KGBVys) are :
(1) Residential schools for girls providing education upto V class.
(2)  Schools providing education to girls belonging to weaker sections.
(3)  Schools providing school education to all the girls in rural areas.

(4) Residential schools for girls belonging to SC/ST/OBC and Minorities in
educationally backward blocks providing education at upper primary level.
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40. @Wel ¥ U T uiaest o it fafy @, @e-Il # KU e v & arer gafad Sise | agiad 3

I TEE HINT |
g -1 e - 11
(ufeest & =i fafén (AT, S T I 2)
(a) TERONT AR AT (1) AT STEIET i SRITTS T 5= H o (o ST
e o |
(b)  3TUITh U= o1 (i)  [iohed™ TSR T STEIT % ®Y § 9 BT |
(c) WA UAEA AT (jii) =ROW T UL T T2 T |
(d) TRYT UfAaeeT T (iv) TifshaT % Ucdieh TROT H Ufdas o ol YIS sl ST |
(v) U STErET 1 Ufagel o, STl UgET e &l 3R 3Tk
IE FAHT AT 1 AT 37 AT o & § I BT |
E T
(@ (b (© @
(H G v @O G
(2) Gi) @O (v Gv)
(3) G) (v Gi) Gv)
@ @O  Gv G (W)

41. T3t 1 AR THR-2009 F AT IMEA &

ey
2
3)
“4)

32 T TSI 3T Faog-2009°
e 3T Faeg R Tl U0 HHeradt TShyH Tae-2009
2T T USTHH 31 Taogd iR Tl U0 SHETerad] TShe Tae-2009”

2 ST Taog T Thi TUE FHHET TS Tae-2009”

42. HERET T SMfereh ot (St et e €

€]
2
3)
4

J-09-16

AR & ToTT Ural Sl Tk i FR1eT TR i o Reraeh fommers |
TR S ! AT I 7T 8T B ATt oo |
TTHOT &35 H |t anfotertat i Thelt RTel UG e aret foremer |

ST WIfe TR W SFgradsia SHeid 3F USel Sifd Ud S1eudeehl ¥ Qi
FieAhT3Tl i 18T U&= R &q Raraen faemer |
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43. In India vocational education has not found favour in comparison to U.S.A. because

@
(ii)
(iii)
(iv)
M
3)

In India vocational education is considered a low status education.
In U.S.A., vocational education is more related to real life situations.
In U.S.A., vocational education is heavily funded by the states.

In India vocational education does not lead to white collar jobs.

(1), (i1) & (iv) (2) (@), (i) & (iiD)

(1), (i) & (iv) 4) (D), (iii) & (iv)

44. An effective measure for success of Sarva Shiksha Abhiyan can be

(1)
2
3)
“4)

Punishing non-cooperating parents.
Properly integrating the general and vocational education at elementary level.
Implementing earning while learning scheme.

Rigorous training of teachers.

45. The motive behind the starting of distance learning programmes was to

(1)

2
3)
4

Provide opportunities to those who could not go for regular education for one or the
other reason.

Spread education to remote and distant areas of the country.
Complete the target of mass education in the country.

Raise the level of learning and awareness of its citizens.

46. Arrange the following as per the correct sequence for developing an administrative model

of curriculum :

(i)  Teacher (i1) District Inspector of Schools
(111) Headmaster (iv) State Department of Education
(1) (1), (i), (iv) and (ii) (2) (i), (iii), (i1) and (iv)

(3) (iv), (1), (iii) and (i) (4) (ii), (iv), (iii) and (i)

47. Who are the participants in developing a demonstration model of curriculum ?

@
(iii)
(M

(3)
Paper-I111

Teacher (i1)  Students
Staff Colleagues (iv) Parents
(i) and (ii) (2) (i), (i), (ii1) and (iv)
(1), (i1) and (iii) (4) (ii), (iii) and (iv)
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43.

44.

45.

46.

47.

IRA | aanae 9eT 7 T Tog TR st ot | THe =@l et & it

() 9Rd " AEge 1 1 e TR e g S €

(i) TIFT 5T SRR H a1 P17 ariaeh St fefaai & 31 Hatad € |
(ili) T 5T SRR H a1 T8 1 T2 & HohT 31T Ty oT fohar Sem & |
(iv) 9RT | AEHge H1eT § TheaieT Aehdt et Hetdl |

() (), (i) 3 (iv) (2) (i), (i) 3 (iii)

(3) (i), (iii) 317 (iv) @) (i), (iii) 3% (iv)

TSI ST T TheIdT & Teh WTell LIkt ST &l el & 2

(1) &I = FHH are] AT i IS HET |

(2) WA TR R AT Ue ATFEIIe 9187 1 et St TehiehoT ST |
(3) U@l X HHETS IISHT AN BT |

(4)  3TEATIER HT TE U0 |

XL 278 kA I b ST o TS 329 T

(1) 37 AT 1 18T T TR UG AT S ot 7 Topedt sRorarst it forem e =&t
% |

(2) 1 ISIST S X & § TR BT TR AT |
(3) 39 H Wfeeh f¥IeT 1 8T 9 B |
(4) AT 1 FR TG 0 % ATMNEDN i STEHAT o & H g BT |

TSIk o Ueh TRTAhIT YT i TaIshide e & F=iTchel T Hel 6 SaTsy :
() oA

(i) TSt wper Fterss

(iii) TS

(iv) TS 1 TTeT Tonqmr

(1) (@), (iii), (iv) T (ii) (2) (@), (iid), (i) T (iv)

() (@v), (ib), (iii) T (i) (4) (i), (iv), (iii) T (i)

TSTshH o Ueh TS UIqH o1 forehrd shied | Wil i &1 € 2

() 3TeATH

(i) B

(il) % FehHr

(iv) ehnfes

(1) () wd (i) (2) (@), (i), (i) T (iv)
3) (), (i) T (iii) (4)  (ib), (iii) T (iv)
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48.

49.

50.

S1.

52.

The ‘System Analysis Model’ of curriculum is based on :
(1) Machine theory (2)  Organelle theory
(3) Organic System theory (4)  Structure and Function theory

The most appropriate space for use of formative evaluation is :
(1) Classroom test (2)  Unit tests
(3) Monthly tests (4) Semester end tests

The purpose underlying summative tests is to

(1) provide evidence in respect of motivation level of learners.

(2) indicate the extent of accomplishment of learners in terms of learning goals.
(3) suggest scope for needed remedial teaching.

(4) enable comparisons of learners.

The scientific theory as developed by Taylor in respect of administration can be described
by a set of statements like the ones given below. Identify the correct set from the codes
given :

(1) A rule of thumb should be replaced by the organized knowledge.

(i) The administrator should follow his/her discretion in running the organization.

(i11)) Instead of individualism, cooperation should be the focus.

(1v) The concern should be output, not Maximum or Minimum.

(v)  The participants should be given opportunity for development.

Codes :
(D) @), (i) & (iii) (2) (ib), (iii) & (iv)
3) (@, (i) & (v) @) (), (1) & (iv)

By which set of statements the human relation approach to administration may be
described ?

(i)  Worker is not a rational man but a social man.
(1) Workers work like one family in the organization.

(i11)) Human and social factors are not related to growth and development of human
resource.

(iv) Work has to be considered as a group activity.

(v)  Production norms are set by social norms.

Codes :
(D @, (), (i) & (iv) 2) @), (1), (iv) & (v)
(3) (), (iii) (iv) & (v) @ (), (1), (iv) & (v)
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48.

49.

50.

S1.

52.

TISThY 1 “TOTeAT fargersor Ufqam fohg o a1remiia € 2

(1) ¥ s (2) iR g

(3) g guTet g (4) T U HHE fEgTd
AT Jodih o [eTT Helitesh SUge TIeT &

(1) e oIy (2) < WIET

(3) e ot (4) FRT & o § WIET
G Todieh 1 Hfed s2ea &

(1) ATTHHaTeT & IRV § Gaited YH10T 3T

(2) AT el % WY T ATTHEareT & e @t T S
(3)  STEvTE IUART TITeTOT T & eI

(4) SRR Wl T HTAT

TR o WY | 2o gRT {aeptad oRties st &l H=ihd 38 H2H1 & T gRT aird
foram ST wehet & | A 3T 0 el § ¥ WE giyead U

() 1799 % ufd 2T i Giied T ¥ Uiqeiud ST ael |
(i) ST P TAH H URTHF i W-[adh T 3TN AT AT |
(il) ATTIATE % TIF W TGN I AR 37 AT |

(iv) 3T a1 =JAaH % IS IS (AROMH) i T BT ey |
(v) eIl i foe o 31ae 5T STH =eu |

kT
(1) (i), (i) o (iii) (2) (i), (iii) T (iv)
(3) (D), (i) T (v) 4 (), () T (iv)

FHHT & Fhe T FRT WO o HIHE-GrTY SURTH i SfoTd fehar ST Gehel & 2
(i)  IEHAT U TehRIIeT MIOT el ST Ueh TSI Wt & |

(i) TGS H HrEshar Ush UNER % ®9 § HE Hd ¢ |

(ili) AT Te HHTSTH BN TG THTE B Gy 3R [Thrd O Fatd 61 € |
(iv) ST T, QIR ekl g1 0 fhT S € |

kT
(D) (D), (ib), (iid) T (iv) 2 (), (i), (v) T (v)
(3) (i), (iii), (iv) T (v) @ (), (i), (iv) T (v)
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53. In situational leadership style, as developed by Hersey Blanchard, there are four styles —
S;, Sy S5 & S, and they are effective in specific situations, specially created by the

developmental levels of the followers. Match the items of Set I with that of Set II.

List - I List - IT
(Leadership Style) (Characteristic of the situation)
(a) S, Telling style (i) Followers are high in three Cs (Commitment,
Competence and Cohesiveness.)
(b) S, Selling style (1)) Followers are high in any one of the three Cs.
(c)  SjParticipatory style (i) Low in all the three 3 Cs.
(d) S, Delegating style (iv) Low in any one of the three Cs.
(v) Low in any two of the three Cs.
(vi) High in any two of three Cs.
Codes :
(a) (b) () (d)
(H G (3Gv) (i) (1)
2 (iii) (i) (1)
(3) @) (1v) (1) (vi)
(CORNC)) (iv) v) (vi)

54. Modern supervision lays stress on

@
(ii)
(iii)
(iv)
)
M
3)

A close vigil on everybody in the school.

Routine check of the administrative duties of concerned persons.
Taking the growth factors as primary concerns.

Developing empathetic view towards those who neglect duties.
Managing by motivating and inspiring.

(iii), (iv) & (v) (2) (), (1ii) & (iv)

(i), (i) & (iv) @ @, () & (v)

55. The planning process is an important managerial operation. What are the various expected
sequential tasks while engaged in this process ? Indicate your answer by selecting the right

sequence.
(1)  Reflecting on the vision and the mission of the organization.
(i) Deciding the strategic plan.
(ii1) Determining the specific objectives.
(iv) Assessing the physical and non-physical resources available.
(v) Deciding the targets.
(1) @, (i), (v), (Av) & (i) @) (@), (i), (iD), (iv) & (V)
3) (v, @, (i), (v) & (V) @ (v), (v), (i), (1) & (ii)
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53. &4 =g 5N foshtad aRiEfad Sge 9ol 7 9R ferdr & —
S;, Sy S, WS, T T STTAGSA % forehre T g forvi w9 A fererer afefeafort o sl
T & | g [ % usT 1 gt 11 % usT 9 et it |

(2)
(b)
()
(d)

T4

(=N

(1)
2
3)
4

T - 1 =t - 11
(g et (af¥fefa =t farwam)

S -FeeTs vt () 3R A C (PHeHe, Hiueg qd1 HREe-d) H 3T

S ,-fospar et (i) T C H ¥ Tt te | oFErlt 3=
S ;- TfeTmTt et (iii) = C 5 =
S-Sttt Sreft (iv) aHC 7 foretl o 5 1

(v) o C ¥ foe=t g1 H e

(vi) o C ¥ fohel 3T H 3=

@ O © @
(i)  Gv) @) 1)
1 G G @
()  Gv) @ (v
» Gy W (v

54, YR TSR fRY U It I § 2

@
(ii)
(iii)
(iv)
)
M
3)

el | ¥ WX U T

eiTerd STl o URTI(eh Sheieal S Sieh [FRIEToT

Jlg PRI Sl TG & T

FHIA Tl ARSI X el o Ul FeT i i gieshivr T@=T
IR 3R SR T Fawe HEAT

(iid), (iv) T (v) 2) (i), (i) T (iv)
(id), (iii) T (iv) 4 (), (i) T (iv)

55. 9o i T5FaT U Hewaol Ve WA € | 99 UishAT W STufeTd i el shieh 9 § T § 2

e
)
(i)
(iii)
(iv)
(v)
(D
3)
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T Tl T §T 3T T |
TIeA & e 3R gfte 1 ufkereTor
TOTITAeh 2T <6l (o7 T
fafeme 329 o e
SUCTeY Wi 3R TR-+ifdeh TETeHT T STehet
AT T T BT
(1), (iid), (v), (iv) T (i) (2) (), (i), (i), (iv) T (V)
v), (i), (i), (iv) T (v) 4) (v, (iv), (i), () T (ii)
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56. If an individual obtained a Z-score of 0.5 in a test, the corresponding T-score would be
(1) 5.5 (2) 0.55
3) 5 4) 55

57. A teacher computed a correlation coefficient between scores on a test of current affairs
and scores on a test of reading ability and obtained a coefficient of 0.96. The result reveals
that,

(1) knowledge of current affairs and reading ability are perfectly related.
(2) the coefficient has been incorrectly computed.

(3) knowledge of reading ability and current affairs are highly related.
(4) knowledge of current affairs is the result of good reading ability.

58. Match items in Set-1I with the items in Set-1I and select the correct code.

Set -1 Set — 11
(Type of test items) (Purpose served)

(a) Alternative response type (1) Identification of association.

(b) Essay type (i) Permit only a limited number of possible
responses.

(c) Sequence type (ii1) Identification of a particular order in
responses.

(d) Matching type (iv) Produce answers that require subjective
scoring.

(v) Limited only to two responses.
Codes :
(a) (b) (©) (d)
(CINC) (vi) (i) (iii)
@ () (iii) v) (1)
(3) (D) v) (i) (1)
(CORNC) (iv) (i) (1)

59. Match the items in Set-I with the items in Set-II and select the appropriate code.

Set -1 Set — 11
(a) Profile (1)  Statistical device that describes test performance of
specified group.
(b) Norm (i) Point in a distribution below which a specified percentage

of cases lie.
(c) Percentile (ii1) Set of different test scores for an individual expressed in a
common unit of measure.
(d) Stanine (iv) Type of normalised standard score with a mean of 5.
(v) One of the three points that divide the cases in a
distribution into four equal groups.
Codes :
(a) (b) (© (d)
() (id) (i1) (iv) (v)
(2) (i) (1) (i1) (iv)
(3) (i) (i) () (v)
@ @Gv) (1) (i1) (v)
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56. AT IS Al Rt T § 0.5 1 Z 37 U T &, af aaqedr T-37 g
(I 55 (2) 0.55
3 5 4 55

57. UH 3TANS § GUAMHGE [0 1 98 H 3ol & s Feday Ul T INeher ohaT 3R e
T &THAT % 37 U fehT T 0.96 T TJoTish Wt foha | IO & T Fotan & fob —
(1) FHAME o= S T SR TS Hi &HdT Iord: Th 3R 9 do © |
(2) T BT AT ST I IR BT T |
(3) TS i &HAT 3R GHHHG [oTdl 1 [ HIH! &5 o TrIod ¢ |
(4) TEEMGS fooEt S T STS] US &7 s TRoTY Bl § |

58, el S A YAl ¥ U H g FT 3K w6 % w1 H |

"e-1 L | |
(TRETT & HET HTUFW) (TSI, ST & T ¥)
(a) THeTH TR TR (i) = H YEEH
(b) fETE® UHR (i)  FTferd SR bl e G i & SFA ¢ |
(c) 3TTFH UHR (i) ST H A T ot TeaH
(d) THAT UBR (iv) T¥ I daR T T4 sferiee eieh mferd & |

(v) Ao 31 ST ae difdd
T

(=N

@ O © @
1 ®  Gv) @) (i)
@ G @) (v @
3 Gy v @ @
@ (v Gv) @) 1)

59. TgTId | § S E HET T G 11 H S0 Hel ¥ e SIS qur Feited % %1 99 S |
e - 1 aqea- 11
(a) WIwIEA () wifeTE g S fafeTe Tgel 1 o uRieror 9T & |
(b) AEFH M) (i) Toaor H g fowg S A FuiRa ufaerd aret Tt o § |
(c) fceTaar (i) frdt At & forr fafir= oRieron & @R 1 9g=aa 518 Ao
o U 3H1E H oFed [hal TET el |

(d) wWH (iv) QEIHT AHS @R 1 ThR S99 U a7 5 8 |
(v) o9 fage o ¥ U St faaeor § yeon @ IR 999 996l ¥
fomfora Y |
FH:

(a) (b) (© (d)

() (D) (i1) (iv) (v)

(2) (i) (1) (i1) (iv)

(3) (i) (i) () (v)

@ @Gv) (1) (i1) (v)
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60. Match the items in Set-I with the items in Set-1I and select the appropriate code.
Set -1 Set — 11
(a) Speed test (1)  Scores correlate with an established test.
(b) Internal consistency (1)) Analysis of the meaning of test scores for the
purpose it was constructed.
(c) Concurrent validity (ii1) Students are not allowed unlimited time to
respond to all questions.
(d) Predictive validity (iv) Kuder Richardson formula 20.
(v) The extent to which the result is likely to
agree with subsequent outcomes.
(vi) Spearman Brown formula.
Codes :
(a) (b) (©) (d)
(H G (v) (i) (vi)
(2 (i) (i) (1) (vi)
(3) @) (v) (1) (v)
@ (@v) (1) (i) (iii)

61. Which of the following reflects the correct sequence in the development of Educational
technology approach ?
(1) Mass media, Hardware, System’s approach, Software, Multimedia and ICT.
(2) Hardware, Software, Mass media, Multimedia and ICT, System’s approach.
(3) Hardware, Mass media, Software, System’s approach, ICT and Multimedia.
(4) Hardware, Software, Mass media, System’s approach, Multimedia and ICT.

62. Match the two sets in terms of their congruence as evident in educational technology.
Select the appropriate match from the code given :

Set -1 Sett — 11
(a) Modalities of teaching (1)  Branching Programmes
(b)  Stages of teaching (i) Ned Flander’s ten categories
(c) Levels of teaching and learning (11) Interactive processes in teaching
(d) Interaction Analysis Procedure (iv) Training and Conditioning

(e) Programmed Instructional Technology (v) Understanding and reflective
forms of teaching
(vi) Models of teaching
(vii) Teaching machines
Codes :
(a) (b) (©) (d) (e)
() (i) (v (vi)) (V)
@ () (i) () v) (vi)
3 Gv) (i) v) (i) (1)
@ () v) (v) (i) (i)

63. In designing instructional system, which model of teaching lays stress on instructional
objectives, process and the evaluation of learning outcome ?
(1) Concept attainment model (2) Inquiry training model
(3) Interaction model (4) Basic teaching model
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60. -1 U= BT -1 ! 7ET ¥ e 3 3had P2 1 =7 Fifoe

(a)
(b)

(©

(d)

- T4

(=N

(1
2)
3)
“4)

-1
TIfe ieyoT
o -
Had oedr

QAT Srerelt

(2)
(ii)
(iii)
(iii)
(iv)

(b)
v)
(i)
(iv)
()

(©)
(iii)
)
)
(i)

()
(i)

(iii)

(iv)
v)

(vi)

qe- 11
T TRI&T0T | ThY o TeHaeH
TR0 WhT & 3T 74 &7 fazemur 5 g
! AR fehaT T T |
T U % U 34 % oW SE @ e
T AT T ¢ |
FeX =TT T HHAT-20.
IE dir 9 uiEmr % ST Uidwe 9
TEH{ i ST E |
TR ST et

(d
(vi)
(vi)
(v)
(iii)

61. iferer EnfTen! SUrTH o o # ek o & 1 AT Wl 3FhH TST9Td el & 2
(1) H Hitean, eTeaay, e SN, Wideady, HedHiiedr qar SE.ara.
(2) @SR, WUAdT, AT HifedT, AeeiHiredr qar 3TE.HI.2l., Se-3uiTH
(3) ETEAT, B HifedT, HIrea, e SUNH, E.EN 3l a1 qedmisar

(4) TSR, Hiwddy, HiE Miear, sqaedT SUrH, HedHiedr qar SE.ara.

SIeAToTeR TSI | 9T URHETd 3! i o uai | fefeifad 31 Seadt sl ufed it qor
I 53 T Bl W WE B T TAT BN

62.

63.

(a)
(b)
(©)
(d)
(e

T4

(=N

(1
2)
3)
4

STIRYAICHE FUTET & 3ATehou | TRT8T0T 1 A |1 UfHT 3TS¥ o Se¥al, UfshaT Ud Sty
IR % Fodish 0 St 3T & 2

ey
3)
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== — 1
TSTeT0T Bt TP RAT
918707 & =0T
ToTeqoT Ue 3T & TR
SFCRTsHAT ToeeAwoT Ufshan
AR TR SoTeATST

(@
(ii)
(iii)
(iv)
)
(vi)

g - 11
I TR
ToTeToT 9 37T ToharTeeh Mishamy
TRTETT U ST
918707 & 3TEEy Ue TR ey
foreroT % TSt

(vii) Tereror-ei

(a)
(1)
(i)
(iv)
(vi)

(b)
(i)

(©

(d)

(vi) (vii)

(i) (iv)

(iii)
(v)

v)

v)
(i)

(v) (iii)

TEI-Funf WiaH=
SFTeRAT UTqHH

(e
)
(vi)
(1)
(ii)

ST ARTET0T UTqH
SR TOTeT0T AT

2
C))
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64.

65.

66.

Which set of statements as given below relates to ensuring effectiveness in both face-to-

face and open systems of educational arrangement ? Choose the code to indicate your

answer.

(i)  Modes of communication are powerful determinants of learning.

(1)) Indirectness of teaching behaviour is related to student learning.

(111) Microteaching attempts to help acquire teaching skills in a teach-reteach sessions.

(iv) Designing of teaching-learning processes in advance improves learning outcomes.

(v) Norm-referenced tests ensure the achievement of common standards in schools
where criterion referenced tests promote objective knowledge about learning

processes.
Codes :

(1) (i), (iii) and (iv) (2) (1), (iv) and (V)
(3) (), (i) and (iii) (4) (i), (iv) and (V)

Which of the following statements describe most appropriately the meaning and scope of
Educational Technology (ET) ?

(1)  ET is directed at use of ICT in the classroom teaching.

(1)) The purpose of ET is to create interest in learners.

(11) ET implies networking of technique to optimize learning.

(iv) ET entails an effective system design to ensure intended learning goals.

(v) InET reflective level learning is not the goal.

(vi) ET promotes concerns for effective, efficient and economical teaching-learning

systems.
Codes :
(1) (i), (iv) and (vi) (2) (1), (ii) and (iii)
(3) (i), (iv) and (vi) (4) (ib), (iii) and (iv)

Match the items of Set-I (names of organizations) with their functions/relations given in
Set-II.
Answer by choosing the correct code :

Set -1 Set — 11
(a) NIVH (1)  Statutory Body for Teacher Education
(b) RCI (1)) Vested with function of organizing refresher courses for
University and College Teachers.
(¢) NCTE (ii1)) Statutory Body for Teacher Education for children with
special needs.
(d) HRDC (iv) Provides education to visually challenged children.

(v)  National Commission for Teacher Education.
(vi) Conducts Research for Rural Development.

Codes :

(a) (b) (© (d)

(H  Gv) (i) (v) (vi)

2 @Gv) (i1) (vi) (v)

(3) (i) (iv) (1) (vi)

4 @Gv) (i) (1) (i1)
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64. =

e T3 FEAT 1 BT G IO YT T SHA-GEA qdT oAl ST yonterr i

T G S o Ty | € 2 IR o o1 Tl e BT 99 Do
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(iii)
(iv)
)

%
(D
(3)

GUUT % T AT 3 IIfeRTemell (R ¢ |

AT ARl ST ST T T Taiferd ¢ |
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(i), (iii) 3 (iv) 2) (), (iv) 3T (v)
(), (ii) 3T (iii) (4) (iib), (iv) 3T (v)
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(ii)
(iii)
(iv)
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SreqioTeh HENfiTen! § IXrert T ATy o Tel ¢ |
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(iii), (iv) 3T (vi) ) (), (i) 3 (iii)
(i), (iv) 3T (vi) 4) (i), (iii) 3 (iv)

66. THTIA | S TET (ST o ATH) I T 11 § T T 37 Hr/daei & Tal Gaferd hifete qer
TEl e o TIT HY 3T ST

(a)
(b)

©

(d)

(1)
2
3)
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T - 1 e - 11
NIVH (i) Tererer fereror & fow Srenferer frepra
RCI (i) Tovafoeme™ qer el Wiereht & T [0 i deriod
FH % HE & [T |
NCTE (il) ORI eTavaRaTeT aret el % AT Semena eror &t dure
e |
HRDC (iv) gfeaTd s=ar s et 8 e |
(v) TeaTge T9TeT 1 IR ST |
(vi) TTHIOT foehme & oW 9y e Heme |

(a) (b) (© (d)
(v) (i) v) (vi)
(iv) (i) (vi) v)
(i) (iv) (1) (vi)
(v) (i) (1) (i)
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67. Which of the following interventions for the gifted is most appropriate ?

(1) Enrichment while in a regular class.
(2)  Separation from other children into special schools for the gifted.
(3)  Subgrouping of the children.

(4)  Acceleration through double promotion.

68. Which of the following is not an element of inclusive education ?
(1) Regard for diversity
(2) Special class placement
(3) Zero rejection

(4) Collaboration

69. In which of the following areas do deaf children tend to show relative inferiority as

compared to hearing children ?

(1) Language development

(2)  Socio-emotional development
(3) Personal and Social adjustment

(4) Academic progress

70. Muscular dystrophy is a
(1) Neuromuscular diseases presenting as a weakening of the muscle.
(2) Degenerative neuromuscular disease.
(3) Neural tube defect caused by failure of spinal column.

(4) Traumatic brain injury.
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71. NCTE was given statutory status in the year :

(1)
3)

1973
1993

(2) 1975
(4) 1996

72. National Commission for Teachers to deal with issues related to Teachers at school level

was set up by Government of India in the year :

(1)
3)

1981
1983

(2) 1982
(4) 1984

73. Match the name of agency of Teacher Education and Training in Column-A with the

function given in Column-B and choose the code for your answer :

Column - A
(Name of Agency)
(a) DIET
(b) CBSE
(¢) CTE
(d) SCERT
Codes :

(a) (b)
(D ) (iii)
2 () (iv)
3)  (v) )
@  (@Gv) (iii)

Paper-I111

Column - B
(Function)

Organises preservice and inservice programs for

Secondary School Teachers.

Organises preservice and inservice programs for

Elementary School Teachers.

(ii1)) Advising MHRD on School Education, organises

training of Teachers and Teacher Education.

(iv) Holding exams and awarding certificates, organising

inservice education programs for school teachers.

State level agency for looking into inservice education

and providing support to teachers.

(© (d)
(iv) (D)
@ )
i) (i)
(ii) )
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71. TAHAT FH a9 T fafer <11 UeM o T |
(1) 1973 (2) 1975
(3) 1993 4) 1996
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w1 wa-II
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(b) wdtTas (i) et foemor sremash & ford S 9@ wd
TSI & SR HIAsHH AT HEAT |

(c) WA (it) To=merm forem & s § g=e G faw
AT ol GcAE T, 3TeAehl Ud 3T
UTRTRTRT o T ITSTeqoT STt ShT |

(d) TEHTATA (iv) T ST AT aUT UHIOLUS WS
FT, TR AR & T YT
TSTeTT FTIehT ST T |

(v) THOTHICA 18T ol ST S T 3TeATgeh i
eI T&T i & To1d Tog T ol ToidT

@ (b () (o

(H  ® @) (Gv) (D)

2 @ @) @O W

3  Gv O @) (D)

@ Gv) @) @G (v)
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74. Assessment of learning gains may be considered as dependent variable in which of the

following areas of research in teacher education ?

(a) Teaching effectiveness

(b) Modification of teacher behaviour
(¢)  School effectiveness

(d) Classroom research

(e)  Criteria of admission

(f)  Teacher professional background
Choose the correct set of answers from the following alternatives.
Codes :

(1) (), (b) and (c)

(2)  (b), (c) and (d)

(3)  (c), (d) and (f)

(4)  (b), (c) and (e)

75. The main objectives of pre-service teacher education program are :

(a)

(b)

(©
(d

Preparing teachers with positive attitude towards children, learning, school and

manual work.

Developing professional competencies and skills relating to effective

communication.
Advancing and updating the knowledge of subject matter and pedagogy.

Inculcating skills of organising cocurricular activities.

Choose the correct set of answers from the following alternatives :

€]
2
3)
4
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(a), (b) and (¢)
(a), (b) and (d)
(b), (c) and (d)
(a), (b), (c) and (d)
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74. 3T TTeT H vy & (=feifad B 9 g o o sifuy et & godishT i ST WX 6 w9
T foram fopar ST |epel & 2
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(1) (a), (b) 3R (c)
2)  (b), (c) 3R (d)
3) (0. (d) =R (f)
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(c) ToorRasg e FTeToTeme & S i fashiad Ud stera e |
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T 52 T2 foshedt | ST o et Gead 1 997 Hivtd

(D) (@), (b) 3 ()

(2) (a), (b) X (d)
(3)  (b), (c) I ()
4)  (a), (b), (c) 3R (d)
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